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This paper consists of 75 objective type questions. Each question

will carry ¢twomarks. A//questions of Paper-I1I will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(11) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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Sheet given inside the Booklet only. If you mark at any place
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Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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POLITICAL SCIENCE

Paper III

TSHIMEH
quusTeRt 111

Time Allowed : 2% Hours]
Note : This paper contains Seventy Five (75) multiple choice questions, each

question carrying Two (2) marks. Attempt A// questions.
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[Maximum Marks : 150
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1. Which one of the following pairs is

correctly matched ?

(A) Civic culture:

(B) Civic culture:

(C) Civic culture:

(D) Civic culture:

Parochial and

political culture

Subject and
super partici-
pant culture

Participation

and political

culture

Parochial, Sub-
ject and partici-

pant culture

TeiteTdeh! IO SISl SR Sl

e ?

(A) AR G&Hdl

- arrarfea aArfor

[aV hd (aV
RISien (9 tendl

(B) AR G&hdl

(C) AR T&hat

: HEH

. Gepiad ST 3=d

strfor

o hd (aV
RISien (9 Htendl

(D) AR G&Hdl

. STHAIfhd, Hepiad

STOT T 9o

Bl

[P.T.O.



Which one of the following pairs is

not correctly matched ?

(A) Vilfredo — The Mind and

Pareto Society
(B) Gaetano — The Ruling
Mosca Class

(C) C. Wright — The Power
Elite

Mills
(D) Karl Mann- — Elite and Non-
heim Elite

Which one of the following pairs is

correctly matched ?

(A) Steven @ — Power : Radical
Lukes View

(B) Michel — DPolitical System
Foucault

(C) Gramsci — A Theory of

Justice
(D) Hannah — Political

Arendt Liberalism
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N A

TR IR SISl AFaYhR Jesaa]
& ?
A) faehe - T €S 3t

Lol el
(B) TN HRERI— T ®lW FOE

(C) §. T2 — < TR 3fde

(D) =T — gfae st M-
HAfeH gfere

ETATeTdeh! I SISl I Jeoelt

e ?

A) €eed  —  de : fewd
Rl i
B) fEa  — qifafesher faedm
Thichlce
C) =it — A Al Ah
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Which of the following statements

are correct ?

(a) Between 1950 and 1967, there
was congress dominant at the

centre level.

(b) After the fourth general election
of 1967, in six states coalition

government was formed.

(0 Between 1950 and 1967, there
was not congress dominant at

the state level.

Select the correct option from the

following codes :

(A) (a) and (o

(B) (b) and (¢

(C) (a) and (b)

(D) (a), (b) and (o)

JAN - 15318/III—D

TTet feAadt st faems aaeEw
Aea ?

(2) 1950 T 1967 HEA <hg Uldsialdl

FHIES UYA 2.

(b) 1967 =1 AL WA FESIH MR

T TSHES SIS T{ehR ST

ElCIIGRIR

(0 1950 @ 1967=d1 TITHH

TIUIdeSadt hidas JYe Togd.

Trell ool Sehdiemyd Ing qd

IREEINE

(A) (a) M ()
(B) (b) 3T (o)
(C) (a) T ()

D) (a), (b) 3 (o)

[P.T.O.



Which of the following statements

are correct ?

(a) The political awareness is

present among the Dalits.

(b) There are region based political

parties in India

(00 There are political parties that
are not formed on socio-cultural

basis.

Select the correct option from the

following codes :

(A) (a) and (o

(B) (b) and (¢

(C) (a), (b) and (o)

(D) (a) and (b)
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TTet feAast wivat faem aaeEw
Aea ?

() TfOAMed TS ST 318 ?

(b) YRAEE YT B U™ 3THeT JSeh

& SR

(0 |EfS&H-GiEshfas T&T T9ad

TSThig T&T 3TIRd.

Trell fooiedn Sehdie gl g 94

freren

Tehdleh :

(A) (a) 3T (o)
(B) (b) &Tfo ()
(C) (a), (b) 37 (o)

(D) (a) 2o (b)




In which state of India the first
communist government was

formed ?

(A) Kerala

(B) Orissa

(C) West Bengal
(D) Tamil Nadu

Which of the following statements

are correct ?

(a) Gender is different from sex
(b) Gender is not social construction
(o0 Gender is division of labour

Select the correct option from the

following codes :
Codes :

(A) (a), (b) and (¢
(B) (a) and (b)
(C) (b) and (o

(D) (&) and (¢

JAN - 15318/III—D

RATAT 10T TEhISATHES JoH

FRIFE TR T e eI 2
(A) DD

(B) efiftEn

(C) df=m sme

(D) dIHeTS,
Tt feded ot faem au«eER
ARd ?

() Tomum@ &1 Si-7e 9QmeE, el
3TTe.

(p) Temuama & gmifee o<t e
(o Tamume woe wme fausE 8.

TTell fooien Sehdieh YA Id 9d™
IREEINE

Tehdieh

(A) (a), (b) 3 (o)
(B) (a) M0 (b)
(C) (b) =T (o)
(D) (a) &M (o)

[P.T.O.



Match List I with List II and select

the correct answer from the codes

given below :

(a)
(b)
(0
(d)

(1)

(2)

3)
(4)

List I
Morris-Jones
Srinivas M.N.
Rajni Kothari
Weiner Myron (ed.)

List II

The Dominant Caste and Other

Essays

Government and Politics in

India
State Politics in India

Politics in India

Codes :

(@ b O @

@A 2 1 @ 3

B 3 @ @O @

© @ 3 @ @

O 1) 2 B @
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T 11 Aefie ara Sed e

(a)

(b)

)

(d)

(D

(2)

3)

(4)

RIC
HRE-Sd
Siferg ..
ESEINCACIE)
AR AR (F)

et 11
T effffe &R 3T 3/ TS
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10.

Which one of the following pairs is
correctly matched ? (After 1990)

(A) Tow party — Gujarat
system

(B) One party — Maharashtra
system

(C) One party — Kerala
dominance

(D) One party — Rajasthan
system

Which of the following is/are forms
or system with which the unitary
system is compatible ?

1. Presidential form of
government.
2. Parliamentary form  of

government
3. System of judicial review

Choose the correct answer from the
codes given below :

Codes :

(A) 1 and 2
(B) 1 and 3
(C) 1, 2 and 3
(D) only 3

10.
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o ~ fa

AN A ~ a L
Cllclicdbenl enlUldl sllel aX[sR Sjooc

a® ? (1990 M)

(A) fgue wgdt —  ToRE

(B) THUE Tgtl — HERTSZ

(C) Ygca¥eit  — D
THTH Tl

(D) THIE — R
REC|

TICHUehT IV WehR fohall TEE TehteH

QTETIGEde ek 3Tled ?
1. A ST
2. GHIM TSI

oe N

3. AR YAfdelehd gt

Erelt foeiean Hehael Ty drg 94
IREEIE

Hehdich :

(A) 1 3mfor 2
(B) 1 a7ftr 3
(C) 1, 2 3mfur 3
(D) e 3

[P.T.O.



11. The cabinet form of government

means :

(A)

(B)

(®)

(D)

A system of govrnment which
is marked by the existence of a
group which collectively decides
on the politics of the
government and which is also
collectively responsible to the

parliament

A form of government in which
the cabinet is supreme and is
not accountable to any other

organ of the state

A form of government in which
all the members of the cabinet
are popularly elected on the
audit

basis of wuniversal

franchise

A form of government in which
it is the President, and not the
Prime Minister, who presides
over the cabinet meetings for
the reason that he is directly
elected by the people

JAN - 15318/III—D

11. &faAe/ANATBIAE® ITETIC T

1%'01@[ s

(A)

(B)

()

(D)

TR Toh YMEAIGET hi TSI T

N o N
e i eTEd Wi RMHAT=AI

HROTeTe | feshitcan ot ot

ST T SETERR STl

3TRM T ST i 8 Sfae

TEATS 3T F T YA hIVCATEI

SRS IS EIE e

Rfl Tk wEAYREdl w1 e

Hfarea wd 9= TEtw We

~

HATTHSRRIER STdeh e f

=N

agH Hdld

M Teh TMETIGET shi 9 oo

Fog T AATL SRS T T

faes Jard A Hiaesn Sgh

SAUE  EEATd

10
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12. A rigid constitution is one which : | 12 Ge T o
(A) cannot be amended (A) ST e &d
(B) can be amended only by a new (B) ST hdes ST UREHTRAdE dgaTe
constituent assembly ST
C b ded only by two-
(C) can be amended only by two (C) 3ufeerd UEA HASTT HIOITH]T
thirds majority of the members . L N
= S Ay agHaHe
present and voting
e Ad
(D) can be amended by any
_ (D) St T =eA foeiean wmH=
procedure other than ordinary
law making process prescribed PHESIAHATAT ARAREE
by the constitution SRV qqa?ﬁﬁ SEedl 3Ad
13. Who said that “Authority is 13. SAfUEFR & W STEA STH WA
federal” ? I foaRea e e ?
(A) Barker (A) =
(B) Duguit (B) =g
(C) Krabbe (C) el
(D) Laski (D) r=ht
11 [P.T.O.



14. Who among the following said that

15.

16.

all the governments ultimately are

oligarchic in nature ?
(A) F.M. Marx

(B) Vilfredo Pareto
(C) Max Weber

(D) Herbert A. Simon

Bureaucracy in the modern state is

the form of :

(A) Traditional authority
(B) Rational legal authority
(C) Charismatic authority
(D) Political authority

Which of the following imposes
limitations on the supremacy of the

Parliament in India ?
(A) Parliamentary system

(B) Federal system and judicial

review
(C) Socialistic pattern

(D) Fundamental rights

JAN - 15318/III—D

14. Td IMEA G SIfAHd:  STCUSETE

15.

16.

ATAd’ W WATAdah! IV B

T ?

(A) TH.UH. A
(B) faehel 4@
(C) g I

(D) TS W HIHA

SMYMF FIBAA ARG T TeTdeht

R TRl A ?
(A) IRUf SRR

(B) fodent denfrer stferepr
(C) feeaaeaiferd sAfaepr
(D) TR SAfEshR

AN A = ~ a
wllctlcdbenl enlUlcd] elcenlHoo HIATATeA

THe= Haarsacae) el Ad ?
(A) FEEHE UG

(B) TERTST SHOEl AT —ATATAH
RUIENICE]
(C) THSER] A

(D) FAYd wFh

12



17. Which of the following pairs are

correctly matched ?
1. Dependency — Samir Amin
theory

2. Liberal theory — Lucian Pye

of development

3. Theory of — Karl Marx
alienation

4. Theory of — John Rawls
negative

Select the correct answer using the

codes given below :
Codes :

(A) 1, 2, 3 and 4
(B) 1 and 2

(C) 3 and 4

D) 1, 2 and 3

JAN - 15318/III—D

17. WIEAeush! ShIo SISl Araiien Sjeae

e ?

1. e s — HHR ST
IRECIE

2. foehmm=n — T T
IERATAE! fager

3. UCAHETE — IS TR
IRECIE

4. THRRHEE — S e
ISERCIE]

@il FehdiohTl oaR heed AT ST

faer .
Hehdich :

(A) 1, 2, 3 3T 4
(B) 1 37for 2

(C) 8 awfur 4

D) 1, 2 37T 3

13

[P.T.O.
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18. Match the following : 18. et e :
List I RICU
(a) Sovereign is the main source of (a) WEYM § U™ T ST
law 3R,
(b) Laws are passed by legislature (b) HECHSS HAS FHA H.
(00 General will is sovereign (0 *"“irﬁ‘* 38 WEdH ST

(d) Will, and not force, is the basis (d) & Feg T HHA! B oA SATER

of state '
List II JEUR
(1) Hobbes (1) wfe
2) ik
(2) Locke @)
(3) =4
(3) Rousseau
4) Aw=. WA
(4) T.H. Green @ A
Teld Hehdlehlqd afd W et
Choose the correct answer from the
i

codes given below :

(a b (© (d @ b (o (d

A @ @2 @ @ A @ @ & O

B @O @ B @ B D @2 B @

C) (@ 1 3) 4
) (2 1) B3) @) © @ O @ @

O @ @1 @ 3

O @ @1 @ 3

14



19.

20.

Classical liberalism grew out of the

struggle between :

(A) labour and bourgeoisie

(B)

capitalists and feudalists

()

middle class and the down-

trodden

(D)

aristocracy and commoners

Gandhiji believed in the principle of

non-violence. Satyagraha is :

(A) a weapon to oppose violence by

non-violence

(B) a method of civil disobedience

(C) a method of people’s

participation

(D) a weapon of violence

19.

20.

JAN - 15318/III—D

EeHeTdeh] RIUCT TTEAT TS SIS

SQRHACIQ 3QHlA AHlAl 7
(A) #ifhes Tfor a
(B) WSaeigR AT TSIHER

(C) T&=Y ot 3o YHTST=AT JResIei

(A) &= 1fEan gfderr wivam 9em

(B) AfoTd SRR qgHd

(C) ThEgYT=l qgedt

(D) f&d= arm

15

[P.T.O.



21.

22.

According to the Fascists, the truest

form of democracy is government by

the :

(A) Elite

(B) War-mongers

(C) Democrate

(D) Anarchists

Violation of the ‘Rule of Law’ arises

mostly from :

(A) Limited franchise

(B) Delegated legislation

(C) Lack of checks and balances

(D) Unrestrained freedom

21.

22.

JAN - 15318/III—D

Teem A1 TIaREoIaR alhemeen X

(A) SN

(B) JgHEN=

(C) h3MEr THLR

(D) RTEI

‘FrEeaE T AT 9T 7 YHE

TeTedeh! I STeHes eIl ?

(A) Taifed TR

(B) 9gx faum

(C) Trg=ror enfor g St

(D) ey w@a=

16



23.

Which of the following is correctly

matched ?

Theories of Statements

JAN - 15318/III—D

23. Wikl I SIEl HIM=ET ATl

Aqe ?

Nature Regarding Nature Ul wWEurEse
of State of State fagia faeam
(A) Idealist State will wither away (A) sevEr Ug gy BIsd
(B) Mechanistic State is an association of (B) =ifert T & o geen
associations i
(C) Legal State has a fictitious (C) durfr P S—
personality TTd
(D) Organic State is the objectification (D) T A T T T&GET
of spirit o
24. Who of the following wrote ‘The | 24. w@rcficiUsh! SHIvn faaRadH ‘T TeaRH
Subjection of Women’ ? e o’ & Uy fafeen ?
(A) Jeremy Bentham (A) SRHT sFoH
(B) Karl Marx (B) =hrei HTeR
(C) James Mill (C) v fue
(D) John Stuart Mill D) w7 wger faa
17 [P.T.O.
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25. Mahatma Gandhi launched the | o5 1919 7ed Heem Ml TEmRERT G99

Satyagraha movement in 1919.

GE whell. Welcdshl @< Iid SR
Which of the following was the

I0d B ?
correct reason ?
(a) It was a protest against the (a) H@W I8 ToereT SmeATen
British government for its ﬁmgﬁ fedrean STTYaTEh

failure to introduce promised

el HIOAT ST STIILITAT

reforms at the end of the war.

forrama
(b) It was a protest against the
massacre at Jallianwala Bagh, (b) STHTER Fefted Siferararen =
Amritsar. TRTeE .

(o0 It was a protest against the

(0 Tere Atufemren fodem.
Rowlatt Act.

(d) wida feesaren favem.

(d) It was a protest against

communal awards. Hhdish

Codes : A) (2) I (O

(A) (a) and (o

(B) ®ae® (¢
(B) Only (o

C aTfor
(C) (o) and (d) (C) (o (d)
(D) Only (b) (D) HaD (b)

18
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26. Who represented the Congress in the | 26. ©ed I A Terast aieed (1931)
Second Round Table Conference at WTeAterdeht hivit shidEs gfafaferc
London (1931) ? Hel ?

(A) Mahatma Gandhi (A) TEeH et

(B) Jawahar Lal Nehru (B) SO 8®
(C) Srinivas Shastri (C) #itfeme v
(D) B.R. Ambedkar (D) . . TeEH

27. The Lahore Session of the Congress | 27. HIUH=A1 @RI AfeEwHe st Hqof
which adopted a resolution of TG 3E I havard STell <]
complete independence for India was S EeteiE Fof el ?
presided over by : )

(A) gure=g &Y
(A) Subhash Chandra Bose

(B) WereHT et
(B) Mahatma Gandhi
(C) Motilal Nehru (C) Wt e
(D) Jawaharlal Nehru (D) ST EE

28. The basic principle of liberalism | 28. SSRH@RM™ Y&A Txd HE 3 ?
b (A) T WA
(A) Individual freedom

(B) WIS =
(B) Social justice
C) HH
(C) Equality ©)
(D) Nationalism (D) Tegare
19 [P.T.O.



29.

30.

Marxism is considered as a Utopia

but sabine finds this utopia ............ .

(A) Generous and a humane one

(B) Anti-capitalist and prodemocracy

(C) Restrictive and class oriented

(D) Anti-imperialist and pro-

authoritarian

Which of the following pairs is

correctly matched ?

(A) Rousseau — Civil society
(B) Locke — Original position
(C) Plato

— Veil of ignorance

(D) Machiavelli — Hegemony

29.

30.

JAN - 15318/III—D

HRIATET TR A Sd. T

g 1 fa=ameEar=a /a3 WSS aaR

TeTeeh! hioe JfyTSeI= 3R 2

(A) 3iieryel sfor AT

(B) wicgarmsl fateh smfon ereremere
g

(C) wfqaEmHs T e

(D) WrHTHETR foriet o7 STfteRremR

RG]

@l feeredn Siedidial shIvdt A Siel

Sfegedl ME 2

(A) & — AT wES
(B) @k — oo Terdt
(C) =i — M Yedl
(D) dfepetregell — o=

20



31. Select the correct answer by using

the codes given below :

Assertion (A) : Hobbes said

“Man is solitary
poor, nasty,
brutish and

short”.

Reason (R) : There can be no

morality, justice,
industry and

civilisation.

Codes :

(A)

(B)

()

(D)

(A) is correct but (R) is incorrect

Both (A) and (R) are correct and

(R) is reason of (A)

(A) is incorrect but (R) is correct

Both (A) and (R) are correct but
(R) is not the correct reason of

(A)

JAN - 15318/III—D

31. TMeid Fhagardl aTa HEd q7d IW

IREEIRE

faam (A) : o= =4, AOE @

WehTeh!, TRIE, 3TTes, T
ST TSI 3Tl

e

&HRUT (R) : S=Ahe Afdehar, =99,

SITYiiaar §HRAT
A&l

Hehdieh :

(A) (A) s R, WY (R) I 3T

(B) <&l (A) 371 (R) SRIeR 3MTed 31T

(R) ¥ (A) & &RU TR
(C) (A) I% 3R, WJ (R) R 3T

(D) =T (A) 3T (R) SRIER 3Ted, W

(R) § (A) = &RU RS

21

[P.T.O.



32.

33.

34.

Who said is the
constraint in the realization of
liberty” ?

“Inequality

(A) Rousseau

(B) Thomas Hobbes
(C) J.S. Mill

(D) T.H. Green

Which among the following is an

Incorrect statement ?

(A) Negative liberty is the absence

of obstacles

(B)

Classical liberal state makes a

claim for private property

(C) Modern liberal state advocates

Laissez-faire economy

(D) Maximum government is main

feature of welfare state

Which one of the following pairs is
correctly matched ?

(A) Classical political theory

Value oriented

(B) Empirical political theory

Value oriented

(C) Empirical political theory

Anti-positivism
(D) Classical political theory

Anti-historicism

32.

33.

JAN - 15318/I11—D
fowman 71 WA Wi STeYe e
Y HUT WA AR ?

(A) =&

(B) otHE Bies

(C) Si.ud. fra

(D) d.T=. WA

wrelteien! e faum sieen :

(A) STSgE=T AYE TN RIS

WA e

(B) ®ITST Fu<iran gran erfiysira,

SEHTAR] T hid

(C) eTefe I[RHAART T qa

AT [ERR

(D) STEId SR Y9 § ShodmuTeh
TN g e o1

34. WICcTIeh! I SISl SIS S[eal

AqE ?

(A) STfa TSt Ta f9gia — Heare®

(B) sTAvgaret Uewia fagia —
TeATHH

(C) sTAvgaret Ut fagra —
gaanedare fodied

(D) AT Tererta fagia — sfagrere

fordreft
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35. Which one of the following pairs is

not correctly matched ?

(A)

(B)

(®)

(D)

John Rawls theory of justice
— Each person is to have an
equal right to the most
extensive liberty compatible

with similar liberty to others

Feminist Account of Justice —
The greatest benefit of the least

advantaged

John Rawls theory of justice —
Attached to offices and positions
open to all under conditions of

fair equality and opportunity

Amartya Sen Approach —

Justice as a capability based.

JAN - 15318/III—D

35. WIClicTdehl IO SISl SR Sl

& ?

(A)

(B)

(®)

(D)

S o= = f9ga — 9o

Tl T gk THdiel, aud

ST S Ul & ST

T ST =A™ Hehed T — Tl

qd FEHIA S S Y

ez

S Uew=n =g fagd — 99 o2

HATHTS! Tl STHrE a9

FHLOATEST FaiT ‘gHHE G U

A9t

3\ T gt — hrederHd

reia =
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36. According to the UNDP’s Human | 3g. H'iaa U\Q:f?&ﬂ fIshTd HTIAHAT]

Development Report of 1994, which

qrelt foshTame’icl 1994 =1 STEETATTIR

one of the following is incorrectly

stated as an issue falls within the

e R A AR S

scope of human security.

IR ATE TN Fehi qAE HIvrar ?

(A) Economic security, Food

security

(A) omfef gRam, 3= §am

(B) Health security, Environmental

security

(B) STRFI &, TR0 FI&T

(C) Personal security, Community

security (C) AfRITd &, WT“"T Hra

(D) Political security, Energy

(D) TSTehia gR&T, 31 e

security
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37.

38.

What is the ultimate goal of state
according to the offensive realism

propounded by Mearsheimer ?

(A) Power

(B) Hegemony

(C) Authority

(D) Peace

Who was/is the UN Secretary
General took the initiative to conflict
prevention and move the UN from
a culture of reactions to a culture

of prevention ?

(A) Ban Ki Moon

(B) Butros Butros Ghali

(C) Kofi Annan

(D) Kurt Waldheim

37.

38.
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THAWER =11 foaReEar Hiededn STghHeh

STEqeaRI{ER Tard Afad 3gfase

HIU 7
(A) &=
(B) 94
(C) 3Afeeh
(D) e

TTeaAds! HIF ASST=AT HI0e]

TRTEeeT Tos eI @R &

SR ERLAE IR NEA R C L IR ES

gfqeeTcHeh Ghdishe Aol ?

(A) &F & 71

(B) g™ =grd He
(C) W%l =T

(D) H deeeRY
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39. You have been asked to design a | 39 HimwTEdd YRER HUAUAEE! TH

comprehensive program to combat

AR hIEhH AREUAY STl

corruption in bureaucracy. Which of

0T Sl TR ATES! T ierieh]
the following measures would you

adopt ? R USRI R ?

(a) Reform of Indian Penal Code (a) YR <8 faumm gomon

(b) Modification of the Prevention b -

of Corruption Act.

(¢ TEAT=A WA FH-oramd GERom
(00 Improvement in  inter-

ministerial coordination (d) Tsgeret=a1 %had 311 A fooien
(d) Reduction in protection given TRETOG hUTd
by Art. 311 of the Constitution e .
d Hehdleh :
Codes :
(A) (a) 3T (d)

(A) (a) and (d)

(B) (b) 3T (o)
(B) (b) and (o

(C) (¢) and (d) (C) (o 3T (d)

(D) (a), (b) and (d D) (a), (b) 0 (d)
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40. Given below are two statements, one

labelled as Assertion (A) and the
other labelled as Reason (R) :

The
Minister’s Office

Assertion (A) : Prime
maintains liaison
with the
President and

Governors.

The
Minister’s Office
acts as the think
tank of the Prime

Reason (R) :

Prime

Minister.

In the context of the above which

one of the following is correct ?
Codes :

(A) (A) is true but (R) is false.

(B) Both (A) and (R) are true but
(R) is the

explanation of (A)

not correct

(C) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

(D) Both (A) and (R) are false

JAN - 15318/III—D

40. @ret gF faum oo ofed. Te faud

(A) W TN &RI (R) :

faeam (A) ;. TAYYH HETEE TS

9 [T 1AM

GUeh UEUITI  HTH

.

TAGETIE wmTATAA
JAgEEr=AT o forem
FOM HEATAT TBUA
Eapficact

T (R)

T0d g faumren geuid Trel fearen
A TR IR T

Hehdih :
(A) (A) TR 38 W (R) I 3T

(B) (A) 271 (R) T8 IR 3T 991
(R) & (A) = Irg TSR0 el

(C) (A) U1 (R) St SR 38 3T(01
(R) § (A) 9 Irg TSR0 318

(D) (A) 701 (R) Sral <k 3Ted
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41.

42.

What are the sources of

Development Administration ?

(A)

Globalization, consumerism,
international trade

(B) Fundamental Rights,

fundamental duties, secularism

(C) Economic development, Political

awarness, democracy

(D) Directive principles, socio-

economic justice, welfarism

Match List I with List II and select
the correct answer from the codes
given below :

List I
(a) Political Affairs Committee
(D)
(©

(d

Estimates Committee
National Development Council
Inter-state Council

List II
(1) Administrative reforms
(2)
3)

4)

Decisions regarding security
Cooperative federalism

to Chief

Representation
Ministers

Codes :

(a)
(A) 4)
(B) 3)
(C) 2
D) (2)

()
3)
(1)
3)
(1)

(0
(2)
4)
(1)
(4)

(1)
(2)
(4)
3)
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41. fohErE= WIEAE 9 SO ?

42.

(A) SIFTfAeRIeRol, TTesalg, SATATS
CIRIES

(B) JOYd TR, HAYd Hhasd, HH-
IREEE]]

(C) enf¥ier faertd, TSI SRR,
IEIE]

(D) Hreieh dod, TrHIfSTeh-ATfeh =1,

ATheh ARl gIoZeh

ETelt feeiedn Fehd JETo1 AT hEd e

I sfor It 11 = Ara Siresn Seea -
ret 1
STehF EeR AT
(b) fars |kt
(0 T fawm uiog
(d) W-TF HSB
Iret 11
YTERTE GHRT
Fferaar weuia o
(3) TEIRERRIRRT TS
(4) et yfatfae
Hehdich :
(a)
(A) (4)
(B) 3)
C) 2
D) @)

(a)

(1)
(2)

()
3)
(1)
3)
(1)

(0
(2)
(4)
(1)
(4)

(d
(1)
2)
(4)
3)
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43. Which two of the following | 43. WiciiciUsh! HIUET gF faum wemEsa

statements are linked with gt Sreoret eTRa 2

administrative leadership ?

(a) T9M IfCR=AT IAEE oo

(a) Influencing people to strive

TS OIS AT FHTfId hol.

willingly for mutual objectives.

(b) ISR STYR SEUITHTS IRl
(b) Mobilizing people to widen

social base. SR AT
(0 Encouraging people for (0 WIS et Hiemed <.
participation (d) ToeATHS HTEATHAGIST Al
(d) Rewarding people for wefrg 2o,

organizational efficiency.

e
Codes :
(A) (a) (o & (d)
(A) (a) (0 and (d)

(B) (b) 30 (a)
(B) (b) and (d)

(C) (a), (b) and (d) (C) (a), (b) T (d)

(D) (b), (o) and (d) D) (b), (o) M0 (d)
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44.

45.

What is corporate governance ?

(a)

It is a government by public

corporations.

(D)

It is a governance protecting

the interests of the stakeholders.

(0

It is a governance protecting

ethical and moral values.

(d) International governance.
Codes :

(A) (a) and (d)

(B) (b) and (¢

(C) (o) and (d)

(D) (a) and (b)

Who of the following advocated the
dependency theory of development

administration ?

(A) Gunder Frank
(B) Frank Marini
(C) Chester Barnard

(D) MacGregor

44.

45.
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a

AR IATACHE TG IMHTHTTIT
(Corporate governance) Ul U

(a) <en T AThd WEE O

(b) TwIeAreA feqgsem &0 IR
IETHRR.

(¢ TTHIUTERYUN Tt Afqes Hear=n

RN HIOR IMMITHTRR.

(d) AT IMETHTER.

Hehdidh :

(A) (a) 0 (d)

(B) (b) 3 (o)

(C) (o) iU (d)

D) (a) 1 (b)

TR TT=AT WA= TEHid TRIae fscarsl
fagum=1 @efietisht vl ArEen 2

(A) TEX Tk
(B) Weh |G
(C) I oA

(D) HHUR
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46.

47.

Which of the following critera is
considered while creating a Nagar

Panchayat ?

(A) the degree of urbanization

(B)

proportion of employment in

non-agricultural activities

(C) the

participation

degree of people’s

(D)

infrastructure facilities

Choose the incorrect statement of the

following :

(A) The scope of Judicial Review in
Canada was expanded with
Canadian Charter of rights and
freedom in 1982

(B) In India Articles 131-136 of the
Constitution have vested in the
Supreme Court the powers of

Judicial Review

()

In US, Judicial Review was
asserted for the first time in
1803 in Marbury Vs. Medison

case

(D) In Switzerland Supreme Court
is empowered to make Judicial

Review of Federal Law

JAN - 15318/III—D

46. TG fHIT R SITeterds

o fepurEr fa=aR Sar S ?

(A) TEURTOM JHUT

(B) oIt sgaamEmdial ISR JHT0
(C) W= Gyl JHIo
(D) Tava gfaen

47. EciausR! gent faum sleen

(A) FHISHHA AT AfSeehr=

T 1982 AT HASad e

3R Tged i~ fired A1 Hread
ElCERRIcEE i)

(B) 9Rdd USTEeT=aT hetq 131-136

ER Haled <RI ATy

oe N

qAfScliehTal ek sglal Siell 3118

AR 1803 =1 A faeg HErH

g7 wRTATHER

(®)

RIEISEIE!

qAfd@IwATET FE  gfecdial

S [AULId HlAl

(D) fracgdenesd =g HTIcuT™

RIPIGRIE I CICHIEE M TUR I
AYRR Haled TIAIAT 3R
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48.

49.

How the President of America is

elected ?
(A) Directly by people

(B) Citizens elect the members of
electoral college, these electors
then cast direct votes for the

President

(C) The US Congress elects the

President of America

The Senators elect the

(D)

President of America
Choose the incorrect statement :

(A) Executive power in Switzerland
held by a

consisting of 7 members

s committee

(B) Switzerland’s constitution of

1848 provided for a Federal

Council

(C) Each of the ministers in Federal
Council has equal power and is

elected by Parliament

(D) The Swiss Constitution expects
that the executive decisions

should be taken by the President

48.

49.

JAN - 15318/I1I—D

s egieAere fee wel g 2
(A) TGRS &I

(B) MTRehTohed IegieAer=a farees

TS et e dn. AR 7

T TS Jodel HagH

< {dld

(C) THR= UeieAet fae s
FHITTRST B

(D) =N Uit fas fare
eHIHheA B

Tefeden! 3Emg faud sfeen :

(A) feeciens) srfaR @ & 9.

o n

Je=A1 9ifdiee 319d

(B) ferrefe=an 1848 =1 USH&EA
e (TEeh) Hear aiqe shall
e

(C) T HEaid Uit HAhe T
T IEd T ® WS HEewhed
IREENESIGIN]

(D) st TsTeeT 38 ®BUd &l
FRERT ol Teieaaehed B
SIEG
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50. Choose the incorrect sentence :

51.

(A) Indian President can declare
state emergency in a state

through Article 356

(B) Article 356 gives wider powers
to the central government to

assert its authority over a state

(C) With Article 356 the powers of
the legislature of the state shall
be exercised by or under the

authority of the Parliament

(D) In the Golaknath case the
Supreme Court discussed at
length the provisions regarding

Article 356

In which state the upper house of

the legislature, gets equal

representation from federating

units ?
(A) India
(B) USA
(C) UK

(D) None of the above

JAN - 15318/III—D

50. WeadR! I foem geh o8 ?

51.

(A) 9T USCOdl Hhetd 356 3T
TCHISIT  SATETO STel &

RMehdld

helH 356 ‘gﬁ @_9\' H{h Al {ISH[d
SAelt AT TEAUd oISt

e AR Y B

(B)

(C) o™ 356 TR TATA HAHSH

~

fohell HHSHTHA

AfRR TS h S

[N

IRAT STl

‘rlﬂqﬂdlq Lldd(d HOITW ~[HlAH[A
3561 heATATHS fokar ==l shall
e

(D)

N N

[ VIcdl XIvdld *IqC{"iSoOI‘OQI Fiiss

HUFRA Yk ATl 99 Hfafafer
fHesd 2

(A) ¥d
(B) =M

() TRE fETew
(D) e FRE T
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52.

53.

Find the wrongly mentioned
member of the Chicago-Michigan
tradition of system theory in

international relations :

(A) Harold Laski

(B) Anatoli Raport

(C) David Singer

(D) Morton Kaplan

Which of the following initiated
the idea of arms control for the first

time ?

(A) Hague Peace Conference (1899)

(B) Geneva Protocol of 1925

(C) 14 Points of Woodrow Wilson

(1919)

(D) Four Powers Declaration of 1945

52.

53.
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AR TSThRUM Haed fagTar=

TIRT-Taei Wdia S0l 928

TRl M8 o T
(A) Bl oht
(B) SfRieR ¥dre
(C) s=is fR

(D) WET HTAH

@i hIMER I THEI07 &1 shed

JUq Hieet el ?

(A) &1 waar 9Reg (1899)

(B) TS @&t (1925)

(C) g2 oo == 14 ®ad (1919)

(D) IR Y= SO (1945)
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54. Given below are two statements, one

labelled as Assertion (A) and the
other labelled as Reason (R) :

The 17th NAM

Summit in

Assertion (A) :

Venezuela was
attended by

India’s Vice-
President Hamid
Ansari.

Reason (R) : In the post-cold
war world NAM
is expected to
focus on core
issues of global

concern.

In the context of the above two
statements, which of the following

is correct ?

Codes :

(A) (A) is true, (R) is false
(B) (A) is false, (R) is true

(C) Both (A) (R)
individually true, and (R) is the

and are

correct explanation of (A)

(D) Both (A) (R)
individually true, but (R) is not

and are

the correct explanation of (A)

JAN - 15318/III—D

54. et g faum fgol omea. W faum

(A) T R FRT (R) :

faeam (A) : seAguan AL 1754
sTfereRree. ¥R FHe
ORATE SIS §HIG
SR I 9T i
®RUT (R) : ¥AGYSITR HTBIA

SRS TGN A

SITTfaeh THETIY T8l
higd A, TN STU&N
TR,

2N S faemTen Teuid Wreiietish! hord]
T aE A ?

Hehdieh :

(A) (A) SUsR 3R 99 (R) Ik 378
(B) (A) ¥ @&, 90 (R) SRIeX 378

(C) Sl (A) 371 (R) E&ds(a0l sieR
ARd T (R) € (A) & 7™
TR 3R

(D) T (A) 2Tfor (R) Taaqul akieR
3Med, W< (R) & (A) 9 ™™
TSR e
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55. India’s claim for permanent seat in

the UN Security Council is justified

for the following reasons :

() India has successfully

conducted nuclear explosions.

(i7) India has never attacked any

country.

(1z1) Indian economy is growing fast.

(iv) India has achieved greater
diplomatic clout among third

world countries.

Choose the correct answer from the

following codes :

(A) All are correct

(B) (1), (i1) and (i71)) are correct

(C) (iin and (iv) are correct

(D) (1), (1) and (iv) are correct

JAN - 15318/III—D

55. WS UegreAl gRe ufivedial Tumh

gecdraita Ydaral gl ©Taid

TeIER Hef e 3T

(1) WM YRS S0 shedl 3.

(71) RA heEft= hIoT SIMER. STHAT

el T

(ff) R STdTawd=] e 916 =i
3R,

(7v) Ta9==n SATIdter S9Hed RA™ ST

qSiHfdeh o W el 2TR.
el TEEgd 9 I el
(A) W TG R Sed
(B) (1), (i) 30T (jzi) SRS AT
(C) () 37O (dv) SR 3T

D) (7, (D) 3 (7v) S 3RA
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56.

57.

Which attribute of ‘Power’ is

Incorrectly stated ?

(A) Capacity to influence

(B) Embodiment of reason

(C) Based on force

(D) Not backed by law

Who among the following has
defined political development as
“increased differentiation and
specialization of political structure
and increased secularisation of

political culture”.

(A) Samuel P. Huntington

(B) David Easton

(C) Gabriel A. Almond and G.B.

Powell

(D) Alfred Diamont

JAN - 15318/III—D

56. AT SfYTSEIeed iU STet STIqur

57.

Seodcll 38 ?
(A) 99T UTSUATET  &Hdl
(B) faoremsiterar

(C) o=l 3ATER

(D) HIECITAl UfSeam=n A9

YOSt EEEE SOUR fafiy=TeRe

ot fauisiien<or gt ofrfor UTah g

Ged Ui A0 TS e

faermg’’ 79Tt USThtd faerrar=l =Hme

EciTeTdeh! ShIoTeHT foramerd™ shall 318 ?

(A) Y=gerd . gfered

(B) fws g=A

(C) Ufsuar eteme enfor Sfsi. oo

(D) 3TThe SEHE
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58. Examine the following statements | 58 = 7fvaes LRoNfasE=an el

about India’s Nuclear Policy and oo aderor s e e fawm

mark the incorrect one :

(A) India considers Nuclear Non-

(A) ATl 3T GHREG!  hIIeT
Proliferation Treaty (NPT) as

.. SFAAFRE Sl
discriminatory treaty

(B) India is in favour of both (B) 9RA STaEA=n Wl ST Sfean

vertical and horizontal nuclear YR HI0gT ®||uﬁ 3Te

weapon proliferation

(C) Hyvt eTfvaeh 1 ST ome wRaren

(C) India is for total nuclear
RICS I

disarmament

(D) <faror ST STUaEHe Yeel WA
(D) India is against declaring South

oo

=ifta wxvgra aRaranr fagy

Asia as a Nuclear Weapon Free

Zone Sl
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59. Select from the following statements

the main theme of the 1971 UN
Declaration on Indian Ocean as a

Zone of Peace. Use the codes :

() To eliminate the regional and

extra regional power presence

(i1) To eliminate the great power
presence in the context of great

power rivalry

(iz1) To make the region a Zone of

Peace

(iv) To declare the region as a

Nuclear Weapon Free Zone.
Codes :
(A) (1), (1), (112), (1v)
(B) (11, (i11) only
(C) (i11), (iv) only

(D) (1), (1) and (7i1) only

JAN - 15318/III—D

59. 1971 =1 f&<t AR ¥ wnidan & U

|fs/a &®IOM=AT WHFd  USST=AT

STEATHTA A Ul fasa @reftd
fauMmYT Fehaye=an TER e

(1) WRfeTeR 7o YevTaTel Sxre STk
T IO

(77) oS G GEi=A1 Gevid TEme

IS o Al T S
(7)) Tafed €5 Inadar & L.

(1v) Hafd &5 e e & WA
RlEEECTU]

Hehdioh :

(A) (1), (1), (1), (iv)
(B) % (i), (i)
(C) B (d1D), (iv)

(D) F& (3), (i) SO (4id)
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60. Choose the correct statement about | gn ‘gt 9=’ A geufdid e

‘security dilemma’ from the

following. Use codes :

() An important paradox inherent

in the state system.

(i7) The existence of states is to
provide security of its citizens

by maintaining armed forces.

(777) The existence of armed forces
threatens the very security, they

are expected to maintain.

(iv) There is no escape from the
international security dilemma
because there is no possibility

forming a world government.
Codes :

(A) (1), (10, (i11) are correct and (iv)

is incorrect

(B) (1), (i1, (ir) and (1v) are correct

()

(1), (1) are correct and (711), (iv)

are incorrect

(D)

(1), (i1, (1v) are correct and (1)

1s incorrect

faummya e faumrt fae =3 ¢

(1) TFATEAAA ST FAgcard

faremama.
(77) AR AT SR TRTRERTE T&TT

FIAEES TSI AR,

(7i7) ST GIFeIaan Tenil ST Temerre

ame faama e i@ ashd

TATRSA el o e S

(iv) ST GI&T Y=g Yl

[HoodUl Rl Alel <p[RUT ST

e et Sveret S T
T

(A) (1), (1), () IR 3TRd, (7v) T
3T

(B) (1), (1), (i) 3TV (4v) TUSR 3R

(C) (2, () ISR 3T T (i7), (iv) T
3Ted

(D) (9, (), (iv) SR 3T TR (47d) T
Sl
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61. Compare List I (Theory) and List II

(Scholars) and select the correct

codes :

(a)
(b)
(©
(d

(1)
2)
3)
(4)

List I (Theory)
Liberalism
Realism
Critical
Dependency

List II (Scholars)
Immanuel Kant
Kautilya
Immanuel Wallenstein

Jurgen Habermass

Codes :

(@ b O @

@ 1 @ @ @

B) @ B3 @ @)

© 1 2 @ 3

D 1) 2 B @

JAN - 15318/III—D

61. I I wefie fogurar=t ot II Aefa
foamadeor 979 SIes HehdiehT=a

RN S[esdl .

RICU |

(a) 3BSHAA]

(b) TTEITERE
(o Tafeam
(d) TUacst

et 11

(1) sHYA Tl
(2) wifeea

(3) THYAA AlcI=H

(4) S geRHEd

K3 -
-
.

(a)
A)
(B) (4)
©)
D) @)

()
(4)
3)
(2)
(2)

(o)
(3)
(2)
(4)
(3)

(2)
(1)
3)
(4)
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62. Which of the following years was

63.

celebrated by India as the

‘E-governance year ?

(A) 2001

(B) 2002

(C) 2003

(D) 2004

Who wrote the book entitled

“Development Administration—

Concept and Problems” ?

(A) Appleby

(B) L.D. White

(C) Willobi

(D) Swerdlow

JAN - 15318/III—D

62. WY HIUA I8 GRAM 3-T9MEA

63.

aH WUH HER sl ?

(A) 2001

(B) 2002

(C) 2003

(D) 2004

‘TRATHS HATHARIF FH<C e

Jiectd ' A1 TishTe e hivi fafeat ?

(A) Tqerert

(B) Td. €. =®Ee

(C) foretrsit

(D) @
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64.

65.

Sarkaria Commission submitted its

report on

(A) 27th October, 1987

(B) 26th April, 1966

(C) 24th November, 1972

(D) 20th May, 1981

Which Article of the Indian

Constitution describes India as a

‘Union of States’.

(A) Article 11

(B) Article 4

(C) Article 13

(D) Article 1

64.

65.
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[IHTAIT TR TIAT 78T

(A) 27 3IERSR, 1987

(B) 26 THA, 1966

(C) 24 =R, 1972

(D) 20 H, 1981

ORI TSTeeD IO head  URG 7T

Tl 99 TR 39U i ?

(A) he® 11

(B) <heH 4

(C) eTH 13

(D) <hetd 1

43

[P.T.O.



66.

67.

68.

Who is the Prime Minister of

Myanmar ?

(A) Owang San Su Ki
(B) Thiyen Sen

(C) Khin Ki

(D) Ne Win

Which is the most important

element of current global politics ?
(A) Technical

(B) Economical

(C) Political

(D) Military

According to Huntington which of
the following countries can be
considered as coming under the third

wave of democratization ?
(A) Japan and Germany
(B) India and Israel

(C) Britain, France and USA

(D) Southern and Eastern Europe

66.

67.

68.
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HHRY TqUeH S0 SAed ?
(A) &1 9 g Hf
(B) oM ¥
(C) fem =t

(D) = =™

TIRTAT  STTdeh  TSThTLOTTE Taid

TgcdrEl Hdeh hIUl 3R ?
(A) TR
(B) Tt
(C) TS=™
(D) =it

ToTeT AT HA WeATciueh! shivrd <91

AIHIMETHIOM=AT AG=AT aTred A

Yhard ?

(A) SO efor S

(B) YR 37Ul s&IErd
(C) fored, wrw anfor guHT
(D) =feror efor g 3l
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69.

70.

Which of the following pairs are

correctly matched ?
(a) Samuel Huntington
(b) Mikhail Gorbachev
(00 Henry Kissinger
(1) Clash of civilization
(2) Perestroika and Glasnost
(3) Detente
Codes :

(A) (1) and (2)

(B) (1) and (3)

(C) (2) and (3)

(D) (1), (2) and (3)

Who among the following is
the pioneer of the theory of neo-

realism ?

(A) Kenneth Waltz
(B) Hans Morgenthau
(C) Barry Buzan

(D) Raul Prebisch

69.

70.
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TITATATRT HI0TAT SISAT ddidd

(A) (1) snfor (2)
(B) (1) =fur (3)
(C) (2) =i (3)
(D) (1), (2) 31T (3)

WAkl vl aarcadare! fHgam
IT A_A 2

(A) HY 9
(B) & Hfifef
(C) o gz

(D) Vs fhsiter
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71.

72.

73.

The speed and intensification of
economic, political, social and

cultural relations across

international borders is known as

(A) Political economy

(B) Economic development
(C) Globalization

(D) World economy

The farmers organisation, Bharatiya

Kissan Union was established by

(A) Sharad Joshi

(B) Mahendra Singh Tikait
(C) Nandunjappa

(D) Raju Shetti

When was fundamental duties were

incorporated in the Indian
Constitution ?

(A) 1948

(B) 1950

(C) 1976

(D) 1971

71.

72.

73.
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anfefeh, USTehid, GTHIfSTR, o QIEhideh
T I SRS AR Ueiiehe

..................

(A) 1948
(B) 1950
(C) 1976

D) 1971
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74. On whose recommendations was the

75.

Constituent Assembly formed ?

(A) Cabinet Mission Plan

(B) Mountbatten Plan

(C) Govt. of India Act, 1935

(D) Cripps Mission Plan

Which one of the following pairs is

not correctly matched ?

(A) Huntington : Differentiation

(B) Gabriel Structural
Almond Differentiation

(C) Huntington : Participation

(D) Gabriel : Centralization
Almond
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74, w1 uReeEr G swomen RrereEs

75.

el Teft ?

(A) e fHeE s

(B) WIS TS

(C) 193591 HRd HIHRR kIl

(D) T HRE Ao

CTATAdR] HIOdT STl Ja Jooed!

T 2

(A) e —  faf=fem

(B) o emie — TS
ICIRSIETY|

(C) et -  HeWm

(D) el 3THE —  shelh{l
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